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b o] SEARTHE. (HAE] - (S0l - [PTE) 2 SMA N

BEAH] GilEd No. K4 A P | HAE | o0Em | BKE | AT | Sk a3
WP ARV FHROKSHE 66 [Eir —F 11 | 8.500 [ 3.200 | 3.200 | 7.850 | 2.500 | 5.050 [ 21.400
o [P AR Y EEROK AR | 67 AT b B 1| 7.950 | 3.200 | 3.400 | 7.600 | 2.300 | 4.400 | 19.950
WP ARV FHROKSHE 68 (Jbm A H12 | 7.550 | 3.500 | 3.000 | 7.900 | 2.400 | 4.200 [ 19.650
Rk 77 69 /bR i 2| 7.850 sk stk | 7,750 sk | 4.850 | 20. 450
T A TEEEEY T 70 |l CHs F1 | 8.300 e sk | 8. 650 sk | 7.900 | 24,850
o [T AT ERRS T TU|EE FEE [T 1[ 9.000 | e | e [ 9050 [ ek | 9.050 | 27.100
T4 FEEERY T 72 | B 1| 8.350 ook wkk | 8. 000 sk [ 5,600 | 21.950
TATEEREES T T 73 |8k ASS H 1| 8.600 ok wkx | 8,150 sk | 7.700 | 24. 450
HREE AR 4 |5 A& 3| 6.750 ok sk | 7,700 sk | 4,300 | 18. 750
. HEHE P2 75 [BFAT 2] 7.200 ook sk | 8. 050 wrk [ 4.900 [ 20. 150
HREE AR 76 |/hL E h 2| 7.600 ok sk | 7,750 sk [ 4,500 | 19, 850
R 22 7R BE Hr 2 | 8.400 Hokok wkk [ 8,500 wik [ 4,950 | 21.850
HREE AR 78 LA HER 2| 6.900 ok sk | 7,900 sk [ 3,900 | 18. 700
54 | M s 79 |fEKk HEE 2 sl stk sl stk okl sk okl
Bx#Er 57 80 |\l & th 3| 7.400 sk | 2,500 | 8. 050 sk | 4,750 | 20. 200
T T LRy 57 81 [ ZEX H1 3] 8.150 [ 7.000 | 5.200 | 8.700 | 4.300 | 7.400 | 24.250
55 [FAR 7= DT Uik 5 7 82 |/NEF  A&HR H13 | 7.250 | 3.800 | 4.500 | 7.550 | 3.200 | 4.600 | 19.400
TR NIV 4 PR 83 |liH  =EK H1 3 | 8.650 sk [ 5,000 [ 9.000 [ 4.100 [ 7.600 | 25.250
FEAAL NET Ry 5T 84 |1 M 11 | 8.600 | 8.800 | 9.000 | 8.700 | 8.700 | 9.300 [ 26.600
. F#AA NET IR 57 85 |FrmH  HfE t1219.000 | 8.000 | 9.200 | 8.750 | 9.000 | 9.250 | 27.000
TR ERs T 86 |ZJR B 1| 8.450 ok sk | 8,500 sk [ 4,100 | 21,050
T A TR 57 87 | th 2 | 8.000 sk sk | 8. 800 sk | 6.400 | 23.200
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(Ao ] XEAEREHEE, (A [0 i CEATHE) ZBR< 3fAGE
boj il GilEd No. K4 A P | HAE | o0Em | BKE | AT | Sk i)
TR T STAE) 1| e 88 |MAT BA H1 1| 7.150 | 3.600 | 3.000 | 7.650 | 3.900 | 5.300 | 20.100
61 TR T SRR | e 89 |IiA e o1 | 7.800 | 3.000 | 3.000 | 8.350 | 3.500 | 4.500 | 20.650
TR T STAE) 1| e 90 |HHE 4AH 2| 6.300 | 3.400 | 3.400 | 3.000 | 3.000 | 4.900 | 14.200
TR T SRR | e 91 |ml fEAEk t 2| 7.000 | 3.200 | 3.400 | 7.800 | 2.500 | 3.800 | 18.600
TR T ST e 92 |TEE A B2 | 7.800 ok wkx | 8,500 sk | 5,300 | 21.600
o | R HTNH P ° 93 M WUHE [ 2| 8.100 [ ek | sk | 8.200 | ek [ 5.800 | 22,100
THR T SLEE) || PR 94 |[RALE AR [d 2| 7.200 | 3.200 | 3.200 | 8.400 | 3.500 | 5.450 | 21.050
TUER T SR | TR 95 |HAS BR F12 | 6.750 | 3.100 sk | 3,000 sk | 3.900 | 13.650
TR S ACE AR 96 |FEIT HK F 2| 9.050 sk | 4,300 [ 8.250 [ 4.200 [ 8.200 | 25.500
g_g AP HINTALE 1t 97 |JINF Kild H13|8.900 | kx| 3.400 | 8.450 [ 3.000 | 7.450 | 24.800
TR S ALE AR 98 |FEA  HEdL th 3| 8.500 sk | 4,000 | 8.500 sk | 6,850 | 23. 850
SR TN ARES AR 99 |BA faABs |4 3 | 8.800 sk | 3,800 | 8.750 sopk | 6.950 | 24.500
WY 2 =T 100 |fEHF R F 1| 7.150 | 4.500 sokk | 7,550 sk | 4.500 | 19. 200
oy [T 2 =7 01| IUA #hik |2 ] 9.150 | 8.100 | sk | 8.700 | ##x [ 8,350 | 26.200
BT LRy 77 102 | &) K H12 | 8.500 [ 8.200 | 6.000 | 8.800 | 7.500 | 7.200 | 24.500
AT LRy T 103 [BA ¥ Hr2 | 7.500 [ 7.000 | 6.500 | 7.400 | 4.000 | 5.250 [ 20.150
R#C Yy B TR 77 | 104|BH EBEXR 1 | 8700 | 6.500 sk | 8,900 sk | 6,900 | 24.500
s T v TRy T 7 [ 106 [HN BEAY 11| 9.100 | 8.500 | 8.400 | 8.800 | 8.500 | 7.500 | 25.400
Ry BTk o7 | 106 |28 & F11 1 9.300 [ 9.000 | 8.500 | 8.600 [ 9.000 | 8.950 [ 26.850
RHCYy Bk o7 107158 B Hr1 | 9.400 [ 7.200 | 8.000 | 8.650 | 8.300 | 9.000 | 27.050
Mg oA 108 [i4a R 13 | 8.450 sk | 3,300 | 8.500 sk | 6,300 | 23.250
66 Mg 2R 109 |FAA ABik 3| 8.200 sk | 3.700 | 8.500 | 2.500 | 6.000 | 22.700
Mg oA 110 4T (BFE 3| 6.650 ok w% | 7,050 sk [ 2,500 | 16.200
M 22 111 | FR3E FR%E 3| 8.250 ol sokk | 8. 500 sk | 6,150 | 22.900
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5 1 FEAEDER

[EAGETHE] KEAETHE, (DAL [0 i | DR T #Br< 3HHGEL

[0 i I, No [ Z 2% Y b/ SULT; BES R it
1 [T 4TRSS Z77 71| 5W FREk ] 9.000 4 koK oo 9.050 |/ 9. 050 2 127.100 |1/
2 |EH v IR 5 7107 A BH | 9. 400 7 1 7.200 T4 18000 41865 '5]8300 @ 4 ]9.000 3 [27.050 2
3 IEH Yy Ky Z 7106 HEE L ] 9.300 2 19.000 718500 218600 [7]9.000 7 | 8.950 4 126.850 [ 3
4 [FEAA FETIRER Yy 57 | 84 | 1Lo e | 8. 600 618800 219000 7]8700 4] 8.700 21 9.300 7 126.600 |4
b i v ZkEE Y 71105 BN §#iAr | 9.100 3218500 3[8400 31880 38500 3| 7500 7 125.400 &5
6 |7 4 FEKEY ZT 70 [l -S| 8.300 | 77 ook oo 8.650 | & 7.900 5 [24.850 6

[Dnr] (k5]

[EYha Pt &, No. | K& EAREE NEfr Pt &, No. | KX £, BkE
HmH v v 7Ry 77107 5 B 9. 400 T« FEEREY Z7 71| HFH  Hhnk 9. 050
AT v TR 5 7106] BE 9. 300 ZRB/V/E/7W‘7?7 104] BHH = 8. 900
SIEE Y vy o B Ky Z 7105 N fEA | 9. 100 sy o TR 5T 105 HAN  fHEAT 8. 800
AT 4 TR Z7 7 71 & fhik | 9.000 MEEAA NET IR 57 g4 | 1o HEwE 8. 700
SIHEY vy o B KR T 104 B E& | 8.700 5|7 4 TR T T 70 | pEill SR 8. 650
6|7 4 FTEKEY Z7 T 738K ARG 8.600 Sl RES Y v B TR T T 107] 40 B 8. 650
6l EAA FETIRER Y 57 |84 [ 1L0 HEBE[  8.600

[(HAFE] [FEAiTH#E]

JIESE At & No. | K& 2| HAE LA At & No. [ FC £ JFM%S
IHEEY Y B ik 7 7(106] By 5 9. 000 mEx v 7R 57 106]  HEF A 9. 000
AW AA TRy 57 |84 | 1hn MERE[  8.800 B AA NETIKER T Z T g4 | 1o HEwE 8. 700
SIEE Y vy o B Ky Z 7105 N fiEA | 8.500 sy o TR T 105 HAN  #EAT 8. 500
MEFY vy B 7K 571107 5V B 7. 200 MNEE vy oV TR 57 107] 4 B 8. 300
Sl vy B TRy Z 7104 BH E% | 6.500 5| R T SRR R 88 HA B 3.900
6l =2 =T 100] f& %% B 4.500 6| AR T S R 89 [ LA HE- 3. 500

[2V#w] [ #kz]

JESr P & No. | IS CARSYL Efiz Bt & No. | X £ SRR
WAL FeT7 iRy 57 [ 84 1ho HERE] 9.000 I AA FET KR 57 g4 | 1o HEwE 9. 300
A v ARy T 7 106] BE 8.500 27 4+ FERE Y F T 71| HFH  Hhnk 9. 050
I Y v B Ky Z 7105 AN §#EA | 8. 400 Sl v o B TR 57 107] 40 B 9. 000
MEE Yy B KRy 571107 A B 8. 000 N A S Y 106] HLB 4 8. 950
S|V« AR — i pEEOKSHE] 67 [ WA kA | 3,400 5|7 4 TERE Y T T 70 [ wmil SR 7.900
69 « AR—VREMOKSH=] 66 [ i —F | 3.200 6|7 4 FEREY Z 7 73| K A5 7.700
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5 2 FEAEDER

[EAGETHE] XEAERTHE, [DAE] - [HSuig] - ETE] 2BkR< 3FHAG

Moz i I No [ K FA YR YN UL PG AT RS Zaf

1 |mEAAL P ETRE 57 |8 [rE ER[ 9.000 218000 319200 '7]8750 3]9. 000 7/ | 9.250 7 127.000 |7
2 WY 2 =7 101 [UA  #hHAk] 9.150 718100 2 oo 8.700 |4 ook 8. 350 2 126.200 2
3 i Sr AR e 96 | BEir H- K] 9.050 2 | wxx 4.300 4 [8.250 &1 4.200 3 8.200 3 [25.500 [ 3
4 B E LRy 57 102] H)IT KE[ 8.500 418200 7 [16.000 31880 7] 7500 217200 4 124.500 4
5 |57 4 ek 77 |87 | It #hE | 8.000 7 | wwx o 8.800 |/ oo 6. 400 5 123.200 &
6 | AR T N B AR 93 | (dE ] 8.100 6 | sekk oo 8.200 9 | sk 5. 800 6 22.100 |6

[D>] (k5]

JIESE A & No. | FC FZANYE LA At J& No. [ FC g2 kB
BHEY =2 =7 101 | (A #hk | 9.150 17 1 FemmbikigEys o7 87 | MJE I 8. 800
2\ i ST AR B p e 96 | BEyr k| 9.050 I UREEY 57 102] &N K 8. 800
S AA FET IR 57 |85 [ AW ERE| 9.000 I AA FNET KR 57 85 | 1rH  EmE 8. 750
AFER =L LK 57 102] FJ)II KHE| 8.500 MY 2 =T 101 A #hik 8. 700
5[ M R 77| B BE | 8.400 5[ FEE TR 7] JE EE 8. 500
6| HUHA T NE VS B R SR 93 [ A 3HE|  8.100 5| CER T SE e PR 92 [ FPF  FER] 8. 500

[HAKE] [FEAiTH#E]

JIESE At & No. | G 2| HAE LA At & No. | & £ | AT
LB =T Uiy 57 102] HJ01 KE| 8.200 mEAAL FETIRER 7 57 85 | 1rH  EmE 9. 000
B 2 =7 101 ] A %k | 8.100 N FRT-DE UK 57 102] H)II KIE 7.500
AL VTR 57 [85 [ 1TH BERE[ 8.000 3| AR T Sz AL H AR 96 | FEIL TEKX 4. 200
MEE =L LRy 57 103] e A Bl 7.000 MEE T Z LR 57 103 T BE- 4. 000
5|4« AR—=y e EOKSHE] 68 [l #EA| 3.500 5| i SRR TP 2R 94 [ RALE BHEE | 3.500
6| HUHAR T A | R 2R 90 [ HEE A HE | 3.400 6| AR T S T e 90 | HIZE AXH 3. 000

[2Viw] [ £kz]

JESr P & No. | IS CARSYL Efiz Bt & No. | 1K £ SRR
EH AL FETHREE 57 |85 | //H  EHE]  9.200 I AA FET IR 57 85 | 1rH  Em 9. 250
2 ER - T LRy 57 103] e A | 6.500 o 2 =7 101 1A #hik 8. 350
SIEE T LR 57 102] F) KE| 6.000 3| AR T Sz AL H AR 96 | FEIL TEX 8. 200
Al ST A B e 96 | EYL HK | 4.300 4| AR T2 iumw =7 102] FH)N K 7.200
B T SRR ] o 22 90 £ AE | 3.400 517 4 T EwALIAERE Y 57 87 | MJE I 6. 400
B i SRR ] 22 91 | Ml #EAR | 3.400 6| AT T S B R AR 93 | HI e 5. 800
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5 3 FEAEDER
[EAGETHE] XEAERTHE, [DAE] - [HSuig] - ETE] 2BkR< 3FHAG
Moz i I No [ EA YR YN BULT PG TAT PR RS Zaf
TN E eSS 83 [ IUH =K | 8.650 3 | ek 5.000 (2 19.000 (7] 4.100 @ 2] 7.600 7 125.250 17
2 R N AR B s 97 [JINF Kk [ 8.900 1 Kk 3.400 7] 8.450 & | 3.000 4 | 7.450 2 124.800 2
3 E‘f%ﬁ?‘li«’@]’tjiﬁ 99 |EA fm AEE| 8.800 2 oo 3.800 (5| 8.750 2 ook 6. 950 4 [24.500 3
4 |FEE =0 FE LIRER Y & 81 | g &= K| 8.150 &1 7.000 75200 7 ]8700 & | 4.300 7 | 7.400 3 124.250 4
5 B L AL B 2R 98 [ JEA  fEHL [ 8.500 P pon 4.000 4 | 8.500 [« ook 6. 850 5 [23.850 5
6 |HEE R 108] J@HE P~ [ 8.450 5 ook 3.300 & | 8.500 |4 Kook 6. 300 6 123.250 |6
[Dnr] [BkE]
JIEAE P & No. | & CANYE iz Bt J& No. | K £ Bk
18 S b AR 97 | I KiE | 8.900 N A ES RS 83| W ==K 9. 000
2| me R i N7 AR B s 99 [EZA fm AHE|  8.800 2T T N2 AR R R 99 | A f KEE | 8.750
3R T ST U S8 AR 83 | I X[ 8.650 SRAE T LKy 57 81| @i &KX 8. 700
4 HCHR T L AR B SR 98 [ JEA  fEHL[ 8.500 AR T N2 AR TR R 98 | A fEl 8. 500
5| Fa e TP R 108] yE4E) e 8. 450 4 AL TR 108 TR 8. 500
6 | HiEE oA 111 AdE PeE | 8.250 A\ HEAE P AR 109] WA AbEk 8. 500
AliREEIESS 11| fesE R 8. 500
[HAKE] [FEATH#E]
JIESE P & No. | K& 2| DA LA P J& No. | FE £ | TR
W =T LAY 57 81 |8 Z=X| 7.000 NI URE Y 57 81| #f ZEX 4. 300
2 mER - T LRy 57 82 | /NHF  fXHE|  3.800 2[R T 32 DU 58 AR 83 [ IHH =X 4. 100
SIREBT-I IR 57 82 | /iy &L 3. 200
4R T S AR B AR 97 | JINGE K 3. 000
b HgEE R 109] A ARk 2.500
[2Viw] EZRED!
JESr P & No. | IS CARSYL Efiz Bt & No. | X £ SRR
LB =T LRy 57 81 [k A K| 5.200 I GINACESIESS 83 [ IHH ==X 7.600
2 AL T 37 DY 56 R R 83 [ LM sEK|[ 5.000 2 U T N2 BB R R o7 [ JIF K 7. 450
I - E LKy 57 82 [ /iy MXKHE| 4.500 SIHET-I IR 57 HEETEESS 7. 400
4| TR ST AR B s 98 [ JEA  fEHL|  4.000 e R GRS 99 | A fm KBRS [ 6.950
5 i ST AR B R 99 [ i AEB[  3.800 5L T S ACE i 98 | JEA  HEHL 6. 850
6 [ A 109 A ARk | 3.700 6 AL TR 108] B PR 6. 300
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